IO CADERE

IO VEDERE

TU LEGGERE
LEI VIVERE

TU CREDERE
NOI VIVERE

IO PERDERE
VOI VIVERE
VOI METTERE
IO SPENDERE
TU PRENDERE
VOI CREDERE
IO RIPETERE
IO RICEVERE
IO CHIUDERE
IO SCRIVERE
LEI RICEVERE
LEI PRENDERE

IO RISPONDERE
LORO SCRIVERE
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Il presente (-ere verbs)
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TU CADERE
TU VIVERE
VOI VEDERE
IO LEGGERE
NOI VEDERE
TU METTERE
VOI CADERE
NOI CADERE
TU CHIEDERE
VOI LEGGERE
LEI METTERE
LEI CREDERE
IO PRENDERE
LEI LEGGERE
LEI PERDERE
LORO CADERE
VOI RICEVERE
LEI CHIEDERE

LORO RICEVERE
LEI RISPONDERE
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10 VIVERE

TU VEDERE
IO METTERE
LEI CADERE
TU PERDERE
IO CREDERE
LEI VEDERE
VOI PERDERE
LORO VIVERE
NOI CREDERE
TU RICEVERE
LORO VEDERE
TU RIPETERE
TU SCRIVERE
IO CHIEDERE

LORO LEGGERE

LEI SCRIVERE
LEI RIPETERE

LORO RIPETERE
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Solution




